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Selling HP StorageWorks XP Disk Arrays
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HP HP2-K16 : Practice Test

Question No : 1

Which HP Adaptive Infrastructure enabler aggregates physical resources, and presents
those resources as capabilities that can be used by applications, desktop clients, or other
types of storage clients?

A. automation

B. virtualization

C. management

D. IT systems and services

Answer: B

Question No : 2

Which Adaptive Infrastructure key enabler allows customers to shift the focus of their
human resources from maintenance-related tasks to more strategic or innovative
requirements?

A. security

B. automation

C. virtualization

D. power and cooling

Answer: B

Question No : 3

Which term describes how business technology results are measured?

A. reduced costs

B. strategic growth

C. business enablers
D. business outcomes

Answer: D

Question No : 4
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A customer wants to discuss the industry trend toward organizations developing a 24 x 7
lights-out data center. Which HP business technology strategy addresses this trend?

A. Grid Computing

B. Adaptive Infrastructure

C. Business Information Optimization
D. Business Technology Optimization

Answer: B

Question No : 5

Which HP StorageWorks Disk Array software shifts most of the replication workload to the
remote site, reducing resource consumption on the primary storage system and improving
production application performance?

A. XP External Storage

B. XP Replication Monitor

C. XP Continuous Access Journal

D. XP Continuous Access Asynchronous

Answer: C

Question No : 6

How do HP StorageWorks XP24000 and XP20000 Disk Arrays make regular and
comprehensive disaster recovery testing more feasible and affordable?

A. They enable application-based cache partitioning.

B. XP Thin Provisioning Software is included for virtual test pool creation.

C. They provide a cost-effective SAS technology for tier-two environments.

D. They support a single replication technology across heterogeneous platforms.

Answer: D

Question No : 7

Which replication option, employed between the primary data center and a nearby hot site,
provides a data copy that is fully current at all times over a limited distance?
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A. journal

B. synchronous
C. deduplication
D. asynchronous

Answer: B

Question No : 8

What is an HP Continentalclusters solution differentiator when compared with HP
Metrocluster solutions?

A. supports XP Disk Arrays

B. supports bi-directional failover

C. uses multiple clusters to provide application recovery

D. uses XP Continuous Access Software for array replication

Answer: C

Question No : 9

A customer has an environment with a diverse collection of disk arrays and wants to
simplify management and migrate data between disk arrays. Which HP StorageWorks
Software should you propose?

A. XP Array Manager

B. XP External Storage

C. XP Thin Provisioning

D. XP Tiered Storage Manager

Answer: B

Question No : 10

From an application perspective, which activities require transaction-oriented performance
from the HP StorageWorks XP Disk Array? (Select two.)

A. emall
B. initial array loading
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C. backup and restore
D. data warehouse creation
E. Enterprise Resource Planning (ERP)

Answer: A,E

Question No : 11

What are Online Transaction Processing (OLTP) applications measured in?

A. 1/O per second
B. MB per second
C. GB per second
D. transactions per second

Answer: A

Question No : 12

Which RAID configuration is capable of providing usable storage capacity up to 87.5%7?

A.RAID 1
B. RAID 5
C.RAID 6
D.RAIDO+1

Answer: B

Question No : 13

Which RAID level uses block level striping and distributed parity?

A. ADG
B.RAID O
C.RAID 5
D.RAIDO+1

Answer: C

http://www.maitiku.com QQ:860424807


http://www.maitiku.com
http://www.maitiku.com

